. I = =1 B No.1
I #& -# B iR % = RETEE | B4 w =
BT
HREREEM
<HEELI>
RiEY T8 8 BB EAEE 173.7 170 | m3 INRE
HEEBRAR RC-40 t=10cm AR EFEE 363.8 360 | m2
HERL T+ & X4 RC-30 AMBEAEE 38.3 40| m3
HEREL BEEBEE) AEHEHEE 1.4 1| m3
HERL ERHEEGERD) BB EAEE 1.7 2| m3
BRL TERXH TRGERALT) ARBEFEE 135 10| m3 INRAE
THEERR S~ REG~BI5 B EHESE 135 10| m3
T8 tWER - EFREYVEED)
TREER BiG~ 05 RIEYV-EBRLGRAL) 173.7-13.5= 160.2 160 | m3
T8 tWER - EFREYVEED)
R I RIEV-EBRLGRAL) 173.7-13.5= 160.2 160 | m3
<SHEI>
SRR LI BT SHIERRIE R TAT7 IV EHEERR B EHEE 792.8 790 | m
TAI7TINEEZERRIE 15cm LT
EHAE MR R R SHEERRIE R 7 AI7VMREERR AMBEFEE 389.3 390 | m2 INRE
HHEERRIE 15cmEL T
OB FRIERI TRAITIAR EHEEMRUZ t=5cm 195 20| m3
mn 5 FRIERI TRITIAR EHEEMRUZ t=5cm 195 20| m3




I = B B No.2
I % -# 8 3 = RETEME | B & &

<BUKERMEHEMLT>

REAAGEEEECZVE) BUKERH HIVP ¢ 125 Rk EHEE 71 71 m
REAAGEEEELCZVE) BUKERH HIVP ¢ 100 Rk EHEE 3.7 4 m
REAAGEEEECZVE) BUKE AT HIVP ¢ 65 Rk EHEE 2.4 2| m
REAAGEEEECZVE) BEKER HIVP ¢ 150 Rk EHEE 0.9 11 m
REAAGEEEECZVE) HEKEREM HIVP ¢ 125 Rk EHEE 6.2 6| m
REAAGEEEECZVE) EKEREAT HIVP ¢ 65 Rk EHEE 28.1 28| m
REAAGEEEECZVE) TSHFT BEHEE 1.0 1] &
REAGEEIRIEEZLE) PYELE S BB EHES 1.0 1 =
BIZITHIV))-+ UK E R HIVP ¢ 125 BB EE 7.1 7] m
BIZITHIV))-+ BUKE T HIVP ¢ 100 BEHEE 3.7 4 m
BHTHIV9)-+ ARKE SR HIVP ¢ 65 B EHEE 24 2| m
BIZITHIV))-+ EKE R HIVP ¢ 150 BB EE 0.9 1] m
BIZITHIV))-+ EKE R HIVP ¢125 BEEE 05 1| m
BiHTHIV9)-+ K E R HIVP ¢ 65 B EAEE 6.6 7| m
FEULTF) ®125 IR ESEE 1.0 1| #
‘AT ¢ 100 BB EE 1.0 1| &
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I #& -# B iR % = RETEE | B4 w =
TR FR 9IR) A5 EFR IR ABEHEE 20 2| &
HEBEMHE A EHEE 1.0 1| =
AT VEPANEE 7 09Y) AMBEAEE 1.0 1| =&
TR ANEE T M BB AEHEHEE 1.0 1| =
<GET>
TEBRECHEER) REEMIEEE BEY79Yv7Y RC-30 AR EFEE 289.3 289 | m2 $HEER
H_EYE 100mm
L ERRAEIEER) EREEMTELE PMEFEREA M-30 B EAEE 319.9 320 | m2 SEER
HEYE 120mm
FE(EE - BEE) HMHIEE BEFRHETAIV(3) ARBEHEE 330.4 330 | m2 | HE-BRELH
HEEE 30mm; I B 1.4mK i
(1BLYFEHH EYES0mmELT)
T
<ZEEBEIT
RBEFEERE 1.0 1] =




EEXT HWEHEE
I 3 =1 = B & & & =
RIEY H@E&Y I EAIER £i3H&Y
1 T ITER 0.4 = 1.87 = 0.75 m3 173.7 | IMREE
TIHEG 0.4 *  359.83 = 143.93
TIHEOG 1.9 =x 3.35 = 6.37
T IHE® 1.3 % 1.35 = 1.76
T THRrE@ 1.5 % 1.62 = 2.43
TIHE® 1.4 1.12 = 9.97
HAEERO 0.4 13.25 = 5.30
#EKEERO 0.4 = 8.03 = 3. 21
&t 173.72
HBERR H@E&Y I BEAIER £i3H&Y
RC-40 TIEQ 0.95 =« 1.87 = 1.78 m2 363. 8
t=10cm TIHEO 0.95 *  359.83 = 341.84
HAEERO 0.95 13.25 = 12.59
BEKREERO 0.95 8.03 = 7.63
&&t 363. 84
EHRL HE&Y I-EAIERE £iHEY
RC-30 TIWE 0.1 = 1.87 = 0.19 m3 38.3 | /MR
TIHEO 0.1 =*  359.83 = 3598
Bk EERO 0.1 = 13.25 = 1.33
BEKREERO 0.1 = 8.03 = 0. 80
&&t 38.30
HRL HE&Y I-EAIERE £iHEY
BEME () TTHEO® 0.1 =* 3.35 = 0.34 m3 1.4
T IHE® 0.1 =* 1.35 = 0.14
TIHEO 0.1 = 1.62 = 0.16
TIHE® 0.1 =* 1.12 = 0.7
&&t 1.35
EHRL HE&Y tI-EAIEE £iHEY
B () TTHEO® 0.2 =* 3.35 = 0.67 m3 1.7
T IHE® 0.1 =* 1.35 = 0.14
TIHEO 0.1 = 1.62 = 0.16
TIHE® 0.1 =* 1.12 = 0.7
&&t 1.68
HRL HE&Y I-EAIEE £iHEY
FAL T IWEG 1.3 3.35 = 4.36 m3 13.5 | /MR
TIHE® 0.8 =* 1.35 = 1.08
TIHEO 1.0 = 1.62 = 1.62
TIHE® 0.9 =* 1.12 = 6. 41
&&t 13. 47




WET HEHEE
I i& =1 = HBil| 1 2 &
Rl H@E&Y I EAIER £i3H&Y
ASERZE R TTH®EO 2.00 =x* 1.87 3.74 m 792.8
t <15cm T THEQ 2.00 =  359.83 719. 66
TIHEOG 2.00 3.35 6.70
T ITHrE@® 2.00 x* 1.35 2.70
TIHEO 2.00 * 1.62 3.24
TIHE® 2.00 x* 1.12 14.24
HAEERO 2.00 * 13.25 26.50
EKEEHO 2.00 x* 8.03 16. 06
&t 792. 84
R H@E&Y I BEAIER £i3H&Y
ASEHLERR TIHE 0.95 1.87 1.78 m2 389.3 | /hiRAE
t <15cm T THEQ 0.95 %  359.83 341.84
TIHEOG 2.09 * 3.35 7.00
T ITHrE@® 1.73 * 1.35 2.34
TIHEO 1.88 x 1.62 3.05
TIHRE® 1.83 * 1.12 13.03
Bk EERO 0.95 13.25 12.59
#EKEERO 0.95 8.03 7.63
&&t 389. 26
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BUKEREMT +T - ERIEERLY
HIVP ¢ 65 BKERMQ 55 ¢65 2.40 m 2.4
EKERET +T - ERIEERLY
HIVP ¢ 150 FEKEREMQ 55 150 0.90 m 0.9
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HIVP ¢ 65 FEKEREFQ 55065 28.14 m 28.1
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& F 2
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& i 12
¢ 50LL E100LLTF a 32
FR%E SO
@100 FHEUINE 100%45° 4 2 = 8 A& 20/1@
¢ 65 FHEIINE 65%90° 12 2 = 24 1218 20/{@
& F 32




HEBEREREMGT HEFEE
I = =1 = B & & S
B8 Bk S +I-BATEE £it&Y
hY-+ HIVP ¢ 125 BUKEEHQ 550125 71.14 m 7.1
HKEEIMmY Y #E
avhy-+ HE& Y
30-8-25(20) 5,890 / 55.0 x 10.0 = 1.07 m3 1.07 5.89 m3/55m
) B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEHE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m
BUKE &R I -ERIERE £iH&Y
HIVP ¢ 100 BUKEEHQ 55 ¢ 100 3.7 m 3.7
HKEEIMmY Y $E
avhy-+ HE& Y
30-8-25(20) 6.18 / 55.0 * 10.0 = 1.12 m3 1.12 6.18 m3/55m
Eip o B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEEE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m
Bk S +I-BATEE £it&Y
HIVP ¢ 65 BUKEERD 55065 2.40 m 2.4
HKEEIMmY Y #E
avhy-+ HE& Y
30-8-25(20) 6.49 / 55.0 * 10.0 = 1.18 m3 1.18 6. 49 m3/55m
) B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEHE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m
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B8 K S T -ERIERE %KY
hY-+ HIVP ¢ 150 FEKEEHEQ 55 9150 0.90 m 0.9
KBEIOMmLYHKE
avhy-+ HE& Y
30-8-25(20) 5,56 / 55.0 *x 10.0 = 1.01 m3 1.01 5.56 m3/55m
) B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEHE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m
K S I -ERIERE £iH&Y
HIVP ¢ 125 FEKEEHQ 550125 0.50 m 0.5
KBEIOMmLYHKE
avhy-+ HE& Y
30-8-25(20) 5,89 / 55.0 x 10.0 = 1.07 m3 1.07 5.89 m3/55m
Eip o B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEEE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m
K S T ERIERE HiH&Y
HIVP ¢ 65 EKEERD 55065 6.63 m 6.6
HBEIOMmBYHKE
avhy-+ HE& Y
30-8-25(20) 6.49 / 55.0 * 10.0 = 1.18 m3 1.18 6. 49 m3/55m
) B Y
38.50 / 55.0 * 10.0 = 7.00 m2 7.00 38.50 m2/55m
BT E&E&Y
D13 0.214 / 55.0 = 10.0 = 0.039 t 0.039 0.214 t /55m
BT E&E&Y
D10 0.268 / 55.0 = 10.0 = 0.049 t 0.049 0.268 t /55m
B ik B Y
BEHE t=10cm 1.23 / 55.0 * 10.0 = 0.22 m2 0.22 1.23 m2/55m




HEERBRWES T HEHEE w4

I = =1 = B & & S
B L)
@125 H 1
MIELYHE
T EE HELY
¢ 125 1.0 H 1
IhERFT
@ 100Z& B 2 150LLF 1.0 = 2 = 20 a 2 MESF 20/
130y F
¢ 125 7.5K 1.0 = 4 = 4.0 | 4 vy BF4O/E
B )
@ 100 H 1
MIELYHE
T EE HELY
¢ 100LLF 1.0 H 1
IhERFT
¢50Z&EZ100LL T 1.0 = 2 = 20 a 2 MESF 20/
130y F
¢ 100 7.5K 1.0 = 4 = 4.0 | 4 50y BF40/E
T
(ETIFH y52) A/1E EOFF 918 B Y 2.0 BT 2
XKBEIERLYHE
BERE
A5 H#E& Y 1.0 & 1
VY vavhy- bR 9 AR E
AR5 FEYY H=50 BE& Y 1.0 & 1
by vavhy- bR 9 AR E
E#REE H=150 & Y 1.0 & 1
by vavhy- bR 9 AR E
JEhi H=40 R Y 1.0 & 1




HEERBRBEMT HEFEE
I i& =1 = HBil| 1 2 wm =
HEEMEE
= 1
X1IXH Y= HEEHHHERLY
BKE ¢ 125 HIVP JRTIE" 9F@1. 10m 4.43 | K 1 4.43 m/5. 5m
¢ 100 HIVP JX e y7@1. 38m 1.57 | K 1 1.57 m/5. 5m
¢ 65 HIVP JA WE" yF@1. 38m 3.98 K 1 3.98 m/5. 5m
i EEE ¢ 150 HIVP 0.76 | X 1 0.76 m/4. Om
BEIEILE ZVE $ 125 HIVP 7.39 | K 2 7.39 m/4. Om
¢ 100 HIVP 1. 61 . 1 1.61 m/4. Om
¢ 65 HIVP 23.71 N 6 23.71 m/4.Om
¢ 16 HIVP 1.10 | K 1 1.10 m/4. Om
HIZE & 125%90° 2 @ 2
¢ 65%90° 14 | & 14
HI45° 1) @ 125%45° 1 @& 1
HIvhy b () ¢ 150%125 1 @& 1
@ 150100 1 & 1
SHENE ¢ 125%90° BERABR LA F T 2 2 & 2
¢ 125%45° BERRPH LT 2 4 & 4
¢ 100%45° BERARA MR F A 2 4 & 4
¢ 65%90° BERRPH LT 2 12 & 12
MBI EE ¢ 125(7.5K) BERABR L REF T 2 2 & 2
@100 (7. 5K) BERRPH LT 2 2 & 2
170y #EFH ¢ 125(7. 5K) 2 | #H 2
¢ 100 (7. 5K) 2 | #A 2
Y7 Mt S ®125(7.5K) A4l
FDC M A% 1 @& 1
¢ 100(7.5K) W4l
FDC M A% 1 @& 1
HEEIFHF vo2 #E ARIS nybX H=150 2 & 2
SAEYYY HRZ1E 25 (K)50 H=50 2 @& 2
L TEREE MR1E 25(CA) 150 H=150 2 @& 2
JEi AR1S 25(P)40 H=40 2 @& 2
HE/R N 1BE%447° 70 (2. 5mm 30° 4%L) 11 & 11 BIRAESR
HI¥yy7" @125 1 @& 1




HEEBRRAEREMT HEFHES

I & =1 = B # =
B
(7° L34Ab =X 1
HE 1)) 1KLY=
7 VHANEE Y nyhiE et TI-BETER KitsY
¢ 150 TIHEO 1.87 m 2
7 VHANEE Y nyhiE et TI-BETER KitsY
G125 F TIHEG 359. 83 m 360




HEEWRIBHREMAT

I i =1 = HBi| # =2 & E-2
7 VHANEE
PAPTEE ST - = 1
XIXBYHE HET IIMBERERLY
7 VA AMEE ¢ 125 HIVP
7" nyh L=5. 50m 3 & 3
L=4.12m 1 e 1
L=1.95m 1 {& 1
L=0. 90m 1 & 1
¢ 100 HIVP
L=5. 50m 12 L[ES 12
L=2. 74m 1 {& 1
L=2. 20m 1 e 1
L=1.30m 1 {& 1
¢ 65 HIVP
L=5.50m 27 {&l 21
L=5. 50m LEJKEREEN VT 1 1@ 1
L=4.97m 1 {& 1
L=3. 25m 2 & 2
=3. 00m 1 & 1
L=2. 74m 13 L[ES 13
L=2. 74m b boAt 1 {& 1
L=2. 74m Kim b Ut 1 & 1
L=1.90m 1 & 1
L=1.51m 1 e 1
L=1.365m 2 {& 2
L=1.32m RN by IEKEREEN WY 1 & 1
L=1.31m 4 & 4
L=0. 90m 5 e 5
7 VHANEE ¢ 125 HIVP RILLE () L=500 1 {& 1
L&Y nyh RIDLE! () L=500 1 {& 1
¢ 100 HIVP RIOLE () L=500 2 {& 2
RLILLE () L=500 2 LIE3 2
¢ 65 HIVP RIOLE () L=500 4 {& 4
RILLE () L=300 7 LIE3 7
RLILLE () L=500 5 LIE3 5
RIDOLE () L=300 10 {& 10
7 VHANEE RITE ¢ 150%150%150 1 & 1
TEI7 nyh BEITE ¢ 100%100%100 1 & 1
B%&bY (b ¢ 100%65 2 & 2
7 VA AMEE ¢ 1508 1 1@ 1
7" Ayy A B it G125 FH 107 {& 107
E{HERN A Stk t=6mm FEARHE 914x 1,829 FERERL=
X22kg/10mTH#LE T ITHER+®
22 /10 = 362 / 1000 t L= 361. 70m




WET WEHAE
I i& =1 = HBil| 1 2 &
TRERE MELY I -EAIERE £itsY
RC-30 t=10cm |ETIEE® 0.68 * 1.87 1.217 m2 289.3
TIHEG 0.70 =* 359. 83 251.88
TIHEOG 1.94 x 3.35 6.50
T ITHrE@® 1.58 * 1.35 2.13
TIHEO 1.73 = 1.62 2.80
TIHE® 1.68 * 1.12 11.96
BUKEEROQ 0.60 13.25 7.95
#EKEERO 0.60 8.03 4.82
&5t 289. 31
LrERE MELY I -EAIERE £itsY
M-30 t=12cm TTH®EO 0.78 * 1.87 1.46 m2 319.9
TIHEO 0.78 «* 359. 83 280. 67
TIHEOG 2.06 * 3.35 6.90
T ITHrE@® 1.70 * 1.35 2.30
TIHEO 1.85 x 1.62 3.00
TIHRE® 1.80 =* 1.12 12.82
BUKEERQ 0.60 13.25 7.95
#EKEERO 0.60 8.03 4.82
&5t 319.92
wE H@E&y t1I-HBAIER £iHsy
BEZHE TITHE 0.80 =* 1.87 1.50 m2 330. 4
As(13) t=3em |TIMFE® 0.80 = 359. 83 287. 86
TIHEOG 2.09 * 3.35 7.00
T ITHrE@® 1.73 * 1.35 2.34
TIHEO 1.88 x 1.62 3.05
TIHE® 1.83 * 1.12 13.03
BUKEEROQ 0.60 13.25 7.95
#EKEERO 0.95 8.03 7.63
&5t 330. 36




II-FERIEREHR

B :m
AR B-1%##k B-2%#k s
®200 150 | 125 100  h65 | ¢150 @100 65 | @100 = 65
TIRED
TTEHEOQ 1.19 0.68 1.87
TTEEOQ 25.90 78.56 149.84 0.50 105. 03| 359.83
TIHE®
TTEHEO® 3.35 3.35
TIHE®
TIWRED
TIHRE®
TIHEO
T TERE® 1.35 1.35
TTErEO® 1.62 1.62
TTEE® 7.12 7.12
K EERED
55 $200
K ERTO
55 $200
BUKEEHKRO 7.14 3. 2.40[ 13.25
55 ¢150
125 7.14 7.14
¢ 100 3.1 3.
¢ 65 2.40 2.40
BKERESFO 7.14 3. 2.40[ 13.25
55 150
125 7.14 7.14
¢ 100 3.1 3.
¢ 65 2.40 2.40
EKEEHKED
55 $200
EKERFD
55 $200
HEKEEHKRD 0.40 0.50 0.50 1.83 4.80 8.03
5% ¢150 0.40 0.50 0.90
125 0.50 0.50
¢ 100
¢ 65 1.83 4.80 6. 63
HEKEFESFD 0.40 6.23 0.50 1.83 26. 31| 35.27
5% ¢150 0.40 0.50 0.90
125 6.23 6.23
¢ 100
¢ 65 1.83 26.31] 28.14




HEEMHBER

A Xt B— 1 %#t B— 2 & i
i gL E oan mER i LM Lo I

HOKE POT_ 10 [$125 443 443 m
HOKE POT.38 | 125 m
$100 1.57 1.57 m
$65 1.68 3.98 m
HIVPEE $200 m
$150 0.30 0.46 0.76 m
125 1.87 7.3 m
100 1.61 1.61 m
o 065 4.20 3.93 23.71 m
sLTHl — |16 0.50 0.20  0.20 1.10 m
HIZW $200%90° &
¢ 125490° 2@
¢ 100%90° @
8 65+90° 2 2 2 148
HI4S" Tk | 125%45° i 1 8
HIVryh () | 6200%150 1@
¢ 150%125 i 1 {8
8 150%100 1 1 {8
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¢ 125490° 2@
¢ 125%45° 4 418
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8 65+90° 2 2 12 {8
HET5YY EE 9125 2 2B
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Ty FR | 125 2 2 #
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$100 1 1
TEIRE vz (#E 1 1 2 1@

Ff 1 2 HE)Y)
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HEID v IMHEEBER No. 2/2
A X B— 1% B—2 %&# & 3
7 VHAMNESELET 0y
¢ 200 HIVP
EILLE! (Z) L=500 .
EOLE () L=300 =
EILLE () L=500 B
BEOLE () L=300 =
¢ 150 HIVP
BOLE () L=500 &
ELLE (Z) L=300 B
EOLE () L=500 =
ELLE () L=300 B
¢ 125 HIVP
BIDLE (&) L=500 1 118
BOLE () L=300 &
EILLE () L=500 1 T E
EOLE () L=300 =
$ 100 HIVP
BEOLE () L=500 2 2 @&
EOLE (Z) L=300 B
BEOLE () L=500 2 1@
ELLE () L=300 B
¢ 65 HIVP
BIDLE (&) L=500 1 4 &
BEOLE () L=300 1 1 7 1@
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BILTE ¢ 100%100%100 1 @
BELY 1{uh
@ 125%100 &
® 100%65 1 1 2 @
B #h#t
¢ 200/ "
¢ 150/ 1#
d125LLFH 20/ 50 30 107




